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BEX RS K 5 z R
— Ik 1 T H 167 169 336
1 — kg 2 T H 149 168 317
it 316 337 653
— Ik 3 T H 101 103 204
) — g 4 T H 108 100 208
— Ik 5 T H 172 206 378
il 381 409 790
L) 351 395 706
3 B fE MY 262 269 531
il 613 624 1, 237
EEEEL 351 368 719
4 A 357 363 720
il 708 731 1,439
Ky 285 338 623
5 e I Wy 170 2138 3838
G 1 1,016 1, 287 2,303
il 1,471 1, 843 3.314
6 NI 633 618 1,251
* Hiy 376 428 304
Ji My 391 434 825
7 gy MY 430 459 3889
= OJI MY 972 951 1,123
a = 194 203 397
il 1,963 2,075 4, 038
&b T 161 161 322
] ) 4 e WY 337 338 675
W i W7 345 349 694
it 343 343 1,691
9 W T & 241 256 497
10 = 2, 838 2,992 9, 830
11 % % 960 966 1,126
12 BB H 746 763 1, 509
13 A i 124 718 1,442
14 ! 212 219 431
15 — = 353 374 727
o M 1,301 1,442 2,743
16 A T 286 370 656
it 1, 587 1,812 3.399
17 IR 263 283 946
A T 72 65 137
138 Al H 1,098 1,072 2,170
it 1,170 1,137 2, 307
N a 46 92 98
N f R 42 ol 93
% % 150 148 298
19 B M 162 176 338
= & 100 9 199
PoE O 768 866 1,634
it 1, 268 1,392 2, 660
20 I 1,599 1, 654 3, 253
i 3 329 359 688
21 N f R 1,112 1,182 2,294
it 1,441 1,541 2,982
19, 930 21,192 41,122

5 % fa %L
@ ith [ )51 5 5 B — () 8, 698 9,385 18, 083
5] i 6, 991 7,236 14, 227
) o 4,241 4,571 8,812
£ i} 19,930 21,192 41,122
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— Ik 1 T H 162 165 327
1 — g 2 T H 149 166 315
it 311 331 642
— g 3 T H 9 100 199
) — Ik 4 T H 108 100 208
— Ik 5 T H 173 206 379
il 380 406 786
L) 352 348 700
3 HfE MY 258 269 927
il 610 617 1, 227
EEEEL 345 399 704
4 A 343 360 708
il 693 719 1,412
Ky 287 332 619
5 e L iy 165 212 377
G i 1, 005 1, 280 2,285
il 1,457 1,824 3. 281
6 NI 633 622 1, 255
* Hiy 381 429 810
Ji Hy 391 433 824
7 gy MY 424 458 382
= OJI MY o71 956 1,127
a = 192 198 390
il 1,959 2,074 4,033
&b T 158 160 318
3 ) 4 e WY 333 337 670
W i W7 341 346 687
it 332 843 1,675
9 W T 5 241 254 495
10 I 2,839 2,999 0, 838
11 % % 962 962 1,124
12 BB H 743 761 1,504
13 A i 720 708 1,428
14 IS 209 219 428
15 — = 350 371 721
o M 1, 305 1,439 2,744
16 A T 279 363 642
it 1,584 1, 802 3. 386
17 IR 265 281 946
A T 71 65 136
138 Al H 1,102 1, 080 2,182
it 1,173 1,145 2, 318
N a 48 94 102
R 42 ol 93
% % 149 149 298
19 B M 158 176 334
= & 9 9 198
PoE O 767 869 1,636
NET 1, 263 1,398 2, 661
20 I 1, 596 1, 647 3, 243
i 3 330 363 693
21 N f R 1,112 1,180 2,292
it 1,442 1, 543 2, 985
19, 862 21, 126 40, 988

5 % fa %L
@ ith [ )51 5 5 B — () 8, 648 9,338 17, 986
5] i 6, 976 7,221 14, 197
) = 4,238 4, 567 8,805
£ i} 19, 862 21,126 40, 988
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FEEE[X $52 22 X 35K 5 1z K HL
— % 1 ] H 160 165 325
—~ W 2 T H 144 162 306
NG 304 327 631
— 5 3 1 H 100 100 200
) —~ W 4 T H 106 99 205
—~ W 5 T H 175 205 380
NEF 381 404 785
L 351 343 694
3 L 258 270 528
NEF 609 613 1,222
L 342 355 697
4 W AF HT 342 356 698
NEF 634 711 1,395
PN 282 326 608
5 L 163 214 377
B & 997 1,278 2,275
NEF 1,442 1,818 3, 260
6 IS 630 616 1, 246
B3 ] 377 430 807
Jit ] 388 430 818
7 By W 426 458 884
= I Hy 569 552 1,121
A = ] 193 199 392
NEf 1,953 2. 069 4,022
MW &5 Wy 156 159 315
g B W Wy 331 336 667
L ] 338 346 684
NEF 825 841 1, 666
9 w T B 242 253 495
10 T = o 2. 856 3,008 D, 864
11 % % 557 558 1,115
12 % H 736 759 1,495
13 N i 715 698 1,413
1 4 T W 1 207 217 424
15 = & 351 368 719
T = M 1,309 1,443 2, 752
16 A 7T ] 275 366 641
INEF 1,584 1,809 3,393
17 e 260 230 540
X 7L 73 65 138
18 il H ] 1,090 1,081 2,171
INEF 1,163 1,146 2,309
7 A 48 54 102
AN R A 42 51 93
% % 148 147 295
19 & ] 158 176 334
— = 98 99 197
F =@ H 4 766 866 1,632
INEF 1, 260 1,393 2,653
20 T = M 1,607 1,644 3,251
B % 326 362 688
21 S 1,107 1, 169 2,276
INEF 1,433 1,531 2, 964
19,799 21, 063 40, 862

7 73 Ry
@t [X 15 bk H = B 8,593 9, 288 17, 881
5] I 6, 984 7,207 14,191
] i 4, 222 4, 568 8,790
S il 19, 799 21, 063 40, 862
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— Ik 1 T H 160 165 325
1 — kg 2 T H 143 162 305
it 303 327 630
— k3 T H 9 100 199
) — g 4 T H 105 98 203
— Ik 5 T H 175 205 380
il 379 403 782
L) 349 343 692
3 HfE MY 258 270 928
il 607 613 1, 220
EEEEL 342 354 696
4 ) 342 357 699
il 684 711 1,395
Ky 281 326 607
5 e I Wy 163 214 377
G 3 997 1, 277 2,274
il 1,441 1, 817 3. 258
6 NI 629 616 1, 245
* Hiy 376 431 307
Ji My 3838 430 318
7 gy MY 426 458 384
= MY 970 951 1,121
a = 193 200 393
il 1,953 2,070 4,023
&b T 156 159 315
3 ) 4 e WY 330 336 666
W i W7 338 346 684
it 824 341 1, 665
9 W T 5 242 252 494
10 I 2,855 3. 005 9. 860
11 % % 959 957 1,116
12 < H 735 759 1,494
13 A i 715 696 1,411
14 IS 208 217 425
15 — = 351 368 719
o M 1, 309 1,442 2,751
16 A T 276 365 641
it 1, 585 1, 807 3.392
17 IR 261 279 940
A T 73 65 138
138 Al H 1, 086 1,082 2,168
it 1,159 1, 147 2, 306
N a 48 94 102
R 42 ol 93
% % 148 147 295
19 B M 156 175 331
= & 98 9 197
PoE O 762 866 1,628
it 1, 254 1,392 2, 646
20 I 1, 604 1, 642 3, 246
i 3 325 363 688
21 N f R 1,106 1,170 2,276
it 1,431 1,533 2, 964
19, 779 21, 052 40, 831

5 % fa %L
@ ith [ )51 5 5 B — () 8, 583 9, 288 17,871
5] i 6, 980 7,198 14,178
) o 4,216 4, 566 8,782
£ i} 19,779 21, 051 40, 831
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FEEX $52 22 X 35K 5 1z KR
— % 1 ] H 159 164 323
—~ W 2 T H 141 163 304
NG 300 327 627
— 5 3 1 H 99 98 197
) —~ W 4 T H 109 96 205
~ % 5 | H 173 205 378
et 381 399 780
L] 348 343 691
3 CEEL 253 266 519
et 601 609 1,210
L 344 350 694
4 W 5 WY 346 357 703
et 690 707 1,397
PN 283 329 612
5 L] 162 207 369
i 55 991 1,272 2,263
et 1,436 1,808 3, 244
6 IR 625 613 1,238
B ] 375 428 803
Jit ] 389 430 819
7 By W 424 457 881
= I Hy 570 552 1,122
A & i 194 198 392
et 1,952 2, 065 4,017
EEAL 156 154 310
3 M~ I W] 327 335 662
L ] 341 342 683
NEF 824 831 1,655
9 w7 B 238 253 491
10 T = H 2, 858 3,003 5, 861
11 % % 560 554 1,114
12 % H 732 758 1,490
13 N i 710 692 1,402
1 4 T W 1 208 215 423
15 = & 355 368 723
T = MW 1,309 1,435 2, 744
16 A 7T ] 269 363 632
INEF 1,578 1,798 3, 376
17 e 260 281 541
X 7L 72 65 137
18 il 5] ] 1,094 1,088 2,182
INEF 1,166 1,153 2,319
7 A 48 56 104
AN R A 44 50 94
% % 148 147 295
19 & ] 159 180 339
— = 97 99 196
F B | 4 765 863 1,628
INEF 1, 261 1,395 2, 656
20 T = H 1, 606 1,635 3, 241
B % 320 358 678
21 IR 1,100 1,170 2,270
INEF 1,420 1,528 2,948
19, 761 20, 992 40, 753
@th [X 15 G % B = 5] 8,559 9, 246 17, 805
[i] I 6, 981 7,184 14,165
[ i 4,221 4, 562 8,783
& il 19, 761 20, 992 40, 753




